

Pricing Proposal

Quotation #: 26324379

Reference #: EA# 75236175 - Year 2 Anniversary

Microsoft Inside Account Manager

Created On: 6/19/2025 Valid Until: 7/31/2025

OK-City of Broken Arrow

Vivien Cruz

290 Davidson Ave. Somerset, NJ 08873 Phone: 732-868-5926

Fax:

Email: vivien_cruz@shi.com

Phil Morris

P.O.BOX 610 ACCOUNTS PAYABLE BROKEN ARROW, OK 74013

United States Phone: 9182598326

Fax:

Email: PMorris@brokenarrowok.gov

All Prices are in US Dollar (USD)

	Product	Qty	Your Price	Total
1	CCAL Bridge O365 Sub Per User Microsoft - Part#: AAA-12414 Contract Name: OK- Software & Services Contract #: SW1041SH Coverage Term: 9/1/2025 – 8/31/2026 Note: 12 months, Year 2 of 3	968	\$20.15	\$19,505.20
2	O365 G1 GCC Sub Per User Microsoft - Part#: U4S-00002 Contract Name: OK- Software & Services Contract #: SW1041SH Coverage Term: 9/1/2025 – 8/31/2026 Note: 12 months, Year 2 of 3	240	\$103.17	\$24,760.80
3	O365 G3 GCC Sub Per User Microsoft - Part#: AAA-11894 Contract Name: OK- Software & Services Contract #: SW1041SH Coverage Term: 9/1/2025 – 8/31/2026 Note: 12 months, Year 2 of 3	728	\$247.13	\$179,910.64
4	Azure Monetary Commitment Provision Microsoft - Part#: AAA-35418 Contract Name: OK- Software & Services Contract #: SW1041SH Coverage Term: 9/1/2025 – 8/31/2026 Note: 12 months, Year 2 of 3	1	\$0.00	\$0.00
5	Defender Endpoint P2 GCC Sub Per User Microsoft - Part#: 7KB-00001 Contract Name: OK- Software & Services Contract #: SW1041SH Coverage Term: 9/1/2025 – 8/31/2026 Note: 12 months, Year 2 of 3	728	\$53.97	\$39,290.16
6	Entra ID P1 Gov Sub Per User Microsoft - Part#: MQM-00001	728	\$54.82	\$39,908.96

Contract Name: OK- Software & Services Contract #: SW1041SH Coverage Term: 9/1/2025 - 8/31/2026 Note: 12 months, Year 2 of 3 Exchange Online P2 GCC Sub Per User from O365 G1 240 \$49.33 \$11,839.20 Microsoft - Part#: 3NS-00001 Contract Name: OK- Software & Services Contract #: SW1041SH Coverage Term: 9/1/2025 - 8/31/2026 Note: 12 months, Year 2 of 3 8 Intune P1 Gov Sub AP Per User 100 \$68.74 \$6,874.00 Microsoft - Part#: 3QA-00008 Contract Name: OK- Software & Services Contract #: SW1041SH Coverage Term: 9/1/2025 - 8/31/2026 Note: 12 months, Year 2 of 3 9 Project P3 GCC Sub Per User 5 \$273.99 \$1,369.95 Microsoft - Part#: 7MS-00001 Contract Name: OK- Software & Services Contract #: SW1041SH Coverage Term: 9/1/2025 – 8/31/2026 Note: 12 months, Year 2 of 3 10 SQL Server Standard Core ALng SA 2L 10 \$648.11 \$6,481.10 Microsoft - Part#: 7NQ-00292 Contract Name: OK- Software & Services Contract #: SW1041SH Coverage Term: 9/1/2025 – 8/31/2026 Note: 12 months, Year 2 of 3 11 Teams AC with Dial Out US/CA GCC Sub Add-on 968 \$0.00 \$0.00 Microsoft - Part#: NYH-00001 Contract Name: OK- Software & Services Contract #: SW1041SH Coverage Term: 9/1/2025 - 8/31/2026 Note: 12 months, Year 2 of 3 12 Visio P2 GCC Sub Per User \$137.00 \$548.00 Microsoft - Part#: P3U-00001 Contract Name: OK- Software & Services Contract #: SW1041SH Coverage Term: 9/1/2025 - 8/31/2026 Note: 12 months, Year 2 of 3 25 13 Win Remote Desktop Services CAL ALng SA DCAL \$19.78 \$494.50 Microsoft - Part#: 6VC-01253 Contract Name: OK- Software & Services Contract #: SW1041SH Coverage Term: 9/1/2025 - 8/31/2026 Note: 12 months, Year 2 of 3 14 System Center DC Core ALng SASU 2L Sys Ctr Std 76 \$72.93 \$5,542.68

15	System Center DC Core ALng SA 2L

Contract #: SW1041SH

Microsoft as a criteria - Part#: 9EP-00209 Contract Name: OK- Software & Services

Coverage Term: 9/1/2025 – 8/31/2026 **Note:** 12 months, Year 2 of 3

8

Microsoft - Part#: 9EP-00208

Contract Name: OK- Software & Services

Contract #: SW1041SH

Coverage Term: 9/1/2025 - 8/31/2026

Note: 12 months, Year 2 of 3

16	System Center Standard Core ALng SA 2L Microsoft - Part#: 9EN-00198 Contract Name: OK- Software & Services Contract #: SW1041SH Coverage Term: 9/1/2025 – 8/31/2026 Note: 12 months, Year 2 of 3	220	\$18.07	\$3,975.40
17	Win Server DC Core Alng LicSA 2L Microsoft as a criteria - Part#: 9EA-00039 Contract Name: OK- Software & Services Contract #: SW1041SH Coverage Term: 9/1/2025 – 8/31/2026 Note: 12 months, Year 2 of 3	12	\$295.20	\$3,542.40
18	Win Server DC Core ALng SA 2L Microsoft - Part#: 9EA-00278 Contract Name: OK- Software & Services Contract #: SW1041SH Coverage Term: 9/1/2025 – 8/31/2026 Note: 12 months, Year 2 of 3	72	\$126.50	\$9,108.00
19	Win Server Standard Core ALng LSA 2L Microsoft as a criteria - Part#: 9EM-00562 Contract Name: OK- Software & Services Contract #: SW1041SH Coverage Term: 9/1/2025 – 8/31/2026 Note: 12 months, Year 2 of 3	126	\$45.95	\$5,789.70
20	Win Server Standard Core ALng SA 2L Microsoft - Part#: 9EM-00270 Contract Name: OK- Software & Services Contract #: SW1041SH Coverage Term: 9/1/2025 – 8/31/2026 Note: 12 months, Year 2 of 3	18	\$19.41	\$349.38
21	M365 G5 GCC Sub Per User Microsoft - Part#: AAL-45735 Contract Name: OK- Software & Services Contract #: SW1041SH Coverage Term: 9/1/2025 – 8/31/2026 Note: 12 months, Year 2 of 3	24	\$612.45	\$14,698.80
22	M365 Copilot GCC Sub Add-on Microsoft - Part#: EP2-24658 Contract Name: OK- Software & Services Contract #: SW1041SH Coverage Term: 9/1/2025 – 8/31/2026 Note: 12 months, Year 2 of 3	1	\$366.30	\$366.30
23	M365 Copilot GCC Sub Add-on Microsoft - Part#: EP2-24658 Contract Name: OK- Software & Services Contract #: SW1041SH Coverage Term: 9/1/2025 – 8/31/2026 Note: 12 months, Year 2 of 3	10	\$366.30	\$3,663.00

24 Power BI Pro GCC Sub Per User Microsoft - Part#: DDJ-00001

Contract Name: OK- Software & Services

Contract #: SW1041SH

Coverage Term: 9/1/2025 - 8/31/2026

Note: 12 months, Year 2 of 3

25 M365 Copilot GCC Sub Add-on

Microsoft - Part#: EP2-24658 Contract Name: OK- Software & Services

Contract #: SW1041SH

Coverage Term: 9/1/2025 - 8/31/2026

Note: 12 months, Year 2 of 3

10 \$366.30

\$91.21

5

\$3,663.00

\$456.05

Total

\$382,531.86

Additional Comments

Due to the potential impact of any current or future tariffs, the price and availability of hardware items on this quote may be subject to change.

Thank you for choosing SHI International Corp! The pricing offered on this quote proposal is valid through the expiration date listed above. To ensure the best level of service, please provide End User Name, Phone Number, Email Address and applicable Contract Number when submitting a Purchase Order. For any additional information including Hardware, Software and Services Contracts, please contact an SHI Inside Sales Representative at (888) 744-4084. SHI International Corp. is 100% Minority Owned, Woman Owned Business. TAX ID# 22-3009648; DUNS# 61-1429481; CCR# 61-243957G; CAGE 1HTF0

The products offered under this proposal are resold in accordance with the terms and conditions of the Contract referenced under that applicable line item.